

## SOME SEQUENCES SUPPLIED BY INEQUALITIES AND THEIR APPLICATIONS

ȘTEFAN M. ȘOLTUZ

**Abstract.** In order to prove the convergence of Ishikawa and Mann iterations, the convergence of one type of sequences is needed. Our purpose, in this note, is to give a new proof of the convergence for one of them. We also give generalizations for the sequences.

*Key words:* nonnegative real sequences.

## 1. INTRODUCTION

The convergence of Mann, Ishikawa iterations are studied in the papers [3], [4], [5]. These iterations are approximating the fixed point of strictly pseudocontractive mapping. One role in the convergence of them is given by some real nonnegative sequences, which are verifying one type of inequalities.

In Proposition 2.1, we give another proof to Lemma 2.1 from [4]. The proof from [4] of Lemma 2.1 is similar to that of Lemma 1.2 from [5]. Lemma 2.1 is used to prove the convergence of the Ishikawa iteration in [4].

In Proposition 2.2 we will study the convergence of the real, nonnegative sequence  $(a_n)$ , given by the following recurrence:

$$a_{n+1} \leq (1 - w)a_n + \alpha_n M,$$

where  $w \in (0, 1]$ ,  $M > 0$  are fixed numbers, and  $\alpha_n \in (0, 1)$ ,  $\forall n \in \mathbb{N}$ ,  $\alpha_n \rightarrow 0$ .

Proposition 2.3, (see [3]), is a generalization of Proposition 2.2, but the sequence isn't necessary convergent to zero. The sequence  $(a_n)$  is given by the following recurrence:

$$a_{n+1} \leq (1 - \alpha_n)a_n + \alpha_n M,$$

where  $\sum_{n=1}^{\infty} \alpha_n = \infty$ ,  $\alpha_n \in (0, 1)$ ,  $\forall n \in \mathbb{N}$ , and  $M > 0$  is fixed.

In another context, Proposition 2.4 generalizes Proposition 2.2. The sequence  $(a_n)$  is given by the recurrence:

$$a_{n+1} \leq (1 - \alpha_n)a_n + \alpha_n c_n,$$

where  $\alpha_n \in (0, 1)$ ,  $\forall n \in \mathbb{N}$ ,  $\sum_{n=1}^{\infty} \alpha_n = \infty$ , and  $(c_n)$  is a nonnegative real sequence, increasing and bounded.

Proposition 2.5 is another generalization of Proposition 2.2. In this context the sequence  $(a_n)$  is given by the recurrence:

$$a_{n+1} \leq (1 - \alpha_n)a_n + \alpha_n c_n,$$

where  $\alpha_n \in (0, 1)$ ,  $\forall n \in \mathbb{N}$ ,  $\sum_{n=1}^{\infty} \alpha_n = \infty$ , and  $(c_n)$  is a nonnegative real sequence and  $\sum_{n=1}^{\infty} \alpha_n c_n = l$ . The sequence  $(a_n)$  isn't necessary convergent to zero.

## 2. MAIN RESULTS

Below we will give a new proof to Lemma 2.1 from [4].

PROPOSITION 2.1. [4]. Let  $(a_n)$ ,  $(b_n)$  and  $(c_n)$  be three nonnegative and real sequences which verify the following inequality

$$a_{n+1} \leq \sqrt{(1-w)a_n^2 + b_n t_n} + c_n,$$

where  $t_n \in [0, 1]$ ,  $\forall n \in \mathbb{N}$ , and  $w \in (0, 1]$  is fixed,  $b_n \rightarrow 0$ ,  $c_n \rightarrow 0$ . Then  $a_n \rightarrow 0$ , as  $n \rightarrow \infty$ .

*Proof.* From our assumptions there exist the following numbers:

$$\begin{aligned} t &= \sup\{t_n : n \geq 1\}, \\ s_1 &= \sup\left\{\frac{2b_n t}{w} : n \geq 1\right\}, \\ s_2 &= \sup\left\{\frac{4c_n}{w} : n \geq 1\right\}, \\ m^2 &= \max\{a_1^2, s_1, s_2\}. \end{aligned}$$

We will prove that  $a_n \leq m$ ,  $\forall n \in \mathbb{N}$ . We can see that  $a_1 \leq m$ . We suppose that  $a_n \leq m$  is true, and we prove that  $a_{n+1} \leq m$ . We have

$$\begin{aligned} a_{n+1} &\leq \sqrt{(1-w)m^2 + \frac{ws_1}{2t}t + \frac{ws_2}{4}} \leq \sqrt{(1-w)m^2 + \frac{w}{2}m^2 + \frac{w}{4}m} = \\ &= \left(\sqrt{1 - \frac{w}{2}}\right)m + \frac{w}{4}m \leq m. \end{aligned}$$

The last inequality is true because

$$\sqrt{1 - \frac{w}{2}} + \frac{w}{4} \leq 1.$$

Hence the sequence is bounded, so the limit exists  $a = \limsup_{n \rightarrow \infty} a_n$ , and  $a < +\infty$ . Hence  $a \leq \sqrt{1-w}a$ . Thus  $a = 0$ .  $\square$

The proof of the next result is similar to the proof of Proposition 2.1.

PROPOSITION 2.2. Let  $(a_n)$  be a nonnegative and real sequence which verifies the following inequality

$$a_{n+1} \leq (1-w)a_n + \alpha_n M,$$

where  $w \in (0, 1]$ ,  $M > 0$  are fixed numbers, and  $\alpha_n \in (0, 1)$ ,  $\forall n \in \mathbb{N}$ ,  $\alpha_n \rightarrow 0$ . Then  $a_n \rightarrow 0$  as  $n \rightarrow \infty$ .

*Proof.* From our assumptions there exist the following numbers:

$$\begin{aligned} s &:= \sup_{n \in \mathbb{N}} \left\{ \frac{\alpha_n M}{w} \right\}, \\ m &:= \max\{a_1, s\}. \end{aligned}$$

We will prove that  $a_n \leq m$ ,  $\forall n \in \mathbb{N}$ . We can see that  $a_1 \leq m$ . We suppose that  $a_n \leq m$  is true, and we prove that  $a_{n+1} \leq m$ . We have

$$a_{n+1} \leq (1-w)m + s w \leq (1-w)m + m w = m.$$

The sequence  $(a_n)$  is bounded. Then there exists  $a = \limsup_{n \rightarrow \infty} a_n$  and  $a < +\infty$ . Hence  $a \leq (1-w)a + 0$ . Thus  $a = 0$ .  $\square$

The next result is Lemma 1 from [3]. Here, instead of  $w$ , we have the sequence  $(\alpha_n)$ .

PROPOSITION 2.3. [3]. Let  $(a_n)$  be a nonnegative and real sequence which verifies the following inequality

$$(1) \quad a_{n+1} \leq (1 - \alpha_n)a_n + \alpha_n M,$$

where  $\sum_{n=1}^{\infty} \alpha_n = \infty$ ,  $\alpha_n \in (0, 1)$ ,  $\forall n \in \mathbb{N}$  and  $M > 0$  is fixed. Then

$$0 \leq \limsup_{n \rightarrow \infty} a_n \leq M.$$

Proposition 2.3 is used to prove the convergence of the Mann iteration in [3].

Remark 2.1. Under the same assumptions as in Proposition 2.3, even if  $\alpha_n \rightarrow 0$ , we can have  $\lim_{n \rightarrow \infty} a_n \neq 0$ .

For  $M = 1$ ,  $\alpha_n = \frac{1}{n+1}$ ,  $a_n = \frac{n-1}{n}$  in Proposition 2.3, we see that  $a_{n+1}$  verifies the recurrence relation and the inequality (1).

$$a_{n+1} = \left(1 - \frac{1}{n+1}\right) \frac{n-1}{n} + \frac{1}{n+1} = \frac{n}{n+1}.$$

The sequence  $(a_n)$  does not converge to zero,  $\lim_{n \rightarrow \infty} a_n = \limsup_{n \rightarrow \infty} a_n = 1$ .

COROLLARY 2.1. Let  $(a_n)$  be a nonnegative and real sequence which verifies the following inequality

$$a_{n+1} \leq (1 - \alpha)a_n + \alpha a_n,$$

where  $\alpha \in (0, 1]$  is a fixed number and  $\alpha_n \in (0, 1)$ ,  $\forall n \in \mathbb{N}$ ,  $\alpha_n \rightarrow 0$ . Then  $a_n \rightarrow 0$  as  $n \rightarrow \infty$ .

*Proof.* We put  $\alpha := M = w$  in Proposition 2.2.  $\square$

LEMMA 2.1. Let  $(\beta_n)_n$  be a nonnegative and real sequence such that  $\beta_n \in (0, 1]$ ,  $\forall n \in \mathbb{N}$ . If  $\sum_{n=1}^{\infty} \beta_n = \infty$ , then  $\prod_{n=1}^{\infty} (1 - \beta_n) = 0$ .

*Proof.* For  $n = 1$  we get  $1 - \beta_1 \leq \frac{1}{1 + \beta_1}$ . Suppose the following is true

$$(1 - \beta_1) \dots (1 - \beta_n) \leq \frac{1}{1 + \beta_1 + \dots + \beta_n}.$$

For  $n + 1$  we have

$$\begin{aligned} (1 - \beta_1) \dots (1 - \beta_n)(1 - \beta_{n+1}) &\leq \frac{1 - \beta_{n+1}}{1 + \beta_1 + \dots + \beta_n} = \frac{1}{1 + \beta_1 + \dots + \beta_n} - \\ &- \frac{\beta_{n+1}}{1 + \beta_1 + \dots + \beta_n} \leq \\ &\leq \frac{1}{1 + \beta_1 + \dots + \beta_n + \beta_{n+1}}. \end{aligned}$$

Obviously, the last inequality holds. Indeed, we have

$$\begin{aligned} \frac{1}{1 + \beta_1 + \dots + \beta_n} &\leq \frac{\beta_{n+1}}{1 + \beta_1 + \dots + \beta_n} + \frac{1}{1 + \beta_1 + \dots + \beta_n + \beta_{n+1}} \Leftrightarrow \\ &\Leftrightarrow 1 + \beta_1 + \dots + \beta_n + \beta_{n+1} \leq \\ &\leq \beta_{n+1}(1 + \beta_1 + \dots + \beta_n + \beta_{n+1}) + (1 + \beta_1 + \dots + \beta_n) \Leftrightarrow \\ &0 \leq \beta_{n+1}(\beta_1 + \dots + \beta_n + \beta_{n+1}); \end{aligned}$$

the latter is, of course, true,  $\forall \beta_i \in (0, 1)$ , and  $i \in \{1, \dots, n, n + 1\}$ . Thus, one obtains

$$\prod_{k=1}^n (1 - \beta_k) \leq \frac{1}{1 + \sum_{k=1}^n \beta_k} \leq \frac{1}{\sum_{k=1}^n \beta_k}, \forall n \in \mathbb{N}.$$

$\square$

PROPOSITION 2.4. Let  $(a_n)_n$  be a nonnegative and real sequence which satisfies the following inequality

$$a_{n+1} \leq (1 - \alpha_n)a_n + \alpha_n c_n,$$

where  $\alpha_n \in (0, 1)$ ,  $\forall n \in \mathbb{N}$ ,  $\sum_{n=1}^{\infty} \alpha_n = \infty$ , and  $(c_n)$  is a nonnegative real sequence, increasing and bounded. Then

$$(2) \quad 0 \leq \limsup_{n \rightarrow \infty} a_n \leq \lim_{n \rightarrow \infty} c_n.$$

*Proof.* By mathematical induction, we shall have

$$(3) \quad a_{n+1} \leq (1 - \alpha_n)(1 - \alpha_{n-1}) \dots (1 - \alpha_1)a_1 + c_n.$$

Indeed, for  $n = 1$ , we get  $a_2 \leq (1 - \alpha_1)a_1 + \alpha_1 c_1 \leq (1 - \alpha_1)a_1 + c_1$ . Suppose the inequality holds for  $n$ . Then

$$\begin{aligned} a_{n+2} &\leq (1 - \alpha_{n+1})a_{n+1} + \alpha_{n+1}c_{n+1} \leq \\ &\leq (1 - \alpha_{n+1})[(1 - \alpha_n)(1 - \alpha_{n-1}) \dots (1 - \alpha_1)a_1 + c_n] + \alpha_{n+1}c_{n+1} \leq \\ &\leq (1 - \alpha_{n+1})(1 - \alpha_n) \dots (1 - \alpha_1)a_1 + (1 - \alpha_{n+1})c_n + \alpha_{n+1}c_{n+1} \leq \\ &\leq (1 - \alpha_{n+1})(1 - \alpha_n) \dots (1 - \alpha_1)a_1 + c_{n+1}. \end{aligned}$$

As  $(c_n)$  is increasing, we have  $(1 - \alpha_{n+1})c_n \leq (1 - \alpha_{n+1})c_{n+1}$ . From Lemma 2.1, we have:  $\sum_{n=1}^{\infty} \alpha_n = \infty \Rightarrow \prod_{n=1}^{\infty} (1 - \alpha_{n+1}) = 0$ . By Weierstrass's theorem, there exists  $\lim_{n \rightarrow \infty} c_n$ . Taking  $n \rightarrow \infty$  from (3), we arrive to conclusion (2).  $\square$

PROPOSITION 2.5. Let  $(a_n)_n$  be a nonnegative and real sequence which satisfies the following inequality

$$a_{n+1} \leq (1 - \alpha_n)a_n + \alpha_n c_n,$$

where  $\alpha_n \in (0, 1)$ ,  $\forall n \in \mathbb{N}$ ,  $\sum_{n=1}^{\infty} \alpha_n = \infty$ , and  $(c_n)$  is a nonnegative real sequence and  $\sum_{n=1}^{\infty} \alpha_n c_n = l$ . Then

$$(4) \quad 0 \leq \limsup_{n \rightarrow \infty} a_n \leq l.$$

*Proof.* By mathematical induction, we shall have

$$(5) \quad a_{n+1} \leq \prod_{k=1}^n (1 - \alpha_k)a_1 + \sum_{k=1}^n \alpha_k c_k.$$

Indeed, for  $n = 1$ , we get  $a_2 \leq (1 - \alpha_1)a_1 + \alpha_1 c_1$ . Suppose the inequality holds for  $n$ . Then

$$\begin{aligned} a_{n+2} &\leq (1 - \alpha_{n+1})a_{n+1} + \alpha_{n+1}c_{n+1} \leq \\ &\leq (1 - \alpha_{n+1}) \left[ \prod_{k=1}^n (1 - \alpha_k)a_1 + \sum_{k=1}^n \alpha_k c_k \right] + \alpha_{n+1}c_{n+1} \leq \\ &\leq \prod_{k=1}^{n+1} (1 - \alpha_k)a_1 + (1 - \alpha_{n+1}) \sum_{k=1}^n \alpha_k c_k + \alpha_{n+1}c_{n+1} \leq \\ &\leq \prod_{k=1}^{n+1} (1 - \alpha_k)a_1 + \sum_{k=1}^{n+1} \alpha_k c_k. \end{aligned}$$

As  $(1 - \alpha_{n+1}) \in (0, 1)$ , we have  $(1 - \alpha_{n+1}) \sum_{k=1}^n \alpha_k c_k \leq \sum_{k=1}^n \alpha_k c_k$ . From Lemma 2.1, we have:  $\sum_{n=1}^{\infty} \alpha_n = \infty \Rightarrow \prod_{n=1}^{\infty} (1 - \alpha_n) = 0$ . Taking  $n \rightarrow \infty$  from (5), we arrive to conclusion (4).  $\square$

#### REFERENCES

- [1] ISHIKAWA, S., *Fixed Points by a New Iteration Method*, Proc. Amer. Math. Soc., **44**, pp. 147–150, 1974.
- [2] MANN, R. W., *Mean Value Methods in Iteration*, Proc. Amer. Math. Soc., **4**, pp. 504–510, 1953.
- [3] PARK, J. A., *Mann-Iteration for Strictly Pseudocontractive Maps*, J. Korean Math. Soc., **31**, pp. 333–337, 1994.
- [4] ZHOU, H. Y., *Stable Iteration Procedures for Strong Pseudocontractions and Nonlinear Equations Involving Accretive Operators without Lipschitz Assumption*, J. Math. Anal. Appl., **230**, pp. 1–30, 1999.
- [5] ZHOU, H. Y., YUTING, J., *Approximation of Fixed Points of Strongly Pseudocontractive Maps without Lipschitzian Assumption*, Proc. Amer. Math. Soc., **125**, pp. 1705–1709, 1997.

Received February 22, 2000

"T. Popoviciu" Institute  
of Numerical Analysis  
G. Bîlăşcu 37, P.O. Box 68-1  
3400 Cluj-Napoca, Romania

E-mail:

ssoltuz@ictp-acad.math.ubbcluj.ro